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(for D. Pharma, B.A.(Journalism and Mass Comm., English,Applied Psychology,sociology, Political Science) BSW,
Integrated L.L.B. BBA, B.Com, Integrated BBA, BA (Economics),B.1.D.)

General instructions

1. Each section comprises of 30 questions.

2. All questions are compulsory.

3. Each right answer would be awarded 4 marks.
4. There is no negative marking.

5. Duration would be of 1 hour 30 mins.

1.Which Political Leader recently shared a blog on water conservation titled 'A Daughter, A Tree and A
Teacher'?

(a) Shashi Tharoor

(b) Narendra Modi

(c) Gajendra Singh Shekhawat

(d) Arun Jaitley

Answer: Narendra Modi

2.Which Indian batsman became the first in the world to score 5 centuries in a World Cup tournament?
(a) Virat Kohli

(b) KL Rahul

(c) Rohit Sharma

(d) MS Dhoni

Answer: Rohit Sharma

3.Which Indigenous Aircraft Carrier (IAC) will be delivered to the Indian Navy in 2021 for advanced trials?
(a) Rafael

(b) Vikrant

(c) Tejas

(d) MG-21

Answer: Vikrant

4.Which city of India has recently been included in the list of World Heritage Sites by UNESCO?
(a) Lucknow

(b) Ranchi

(c) Jaipur

(d) Ludhiana



Answer: Jaipur

5.Which cricketer retained his top position in the latest ICC Batsmen rankings?
(a) Rohit Sharma

(b) David Warner

(c) Virat Kohli

(d) Shakib Al Hasan

Answer: Virat Kohli

6. Consider the following statement (s) related to the Indus Valley Civilization
I. Working floors consisting of rows of circular brick platforms which were meant for threshing grain have been found in
Harappa.

Il. The Great Bath, a granary, big halls, a bronze statue of a dancing girl, the idol of a yogi and numerous seals have been
found at Mohenjo-Daro.

[ll. A script consists of big alphabets has been found on a gate in Dhaulavira.
Which of the following statement (s) is/are correct?

(a) Onlyl

(b) Only 1l

(c) Only il

(d) All the above

Answer: D All of the above

7. What is the correct definition of Fiat Money?
(a) Money on the order of apex bank

(b) Money on the order of Parliament
(c) Money on the order of the government
(d) None of the above

Answer: C



7. Which is the primary and major source of irrigation in India?
(a) Tanks

(b) Wells & Tube wells
(c) Canals
(d) Rain fed

Answer: B

8. Which of the following type of farming is done with slush and burn method on the jungles of north-eastern part of
India?

(a) Intensive Farming

(b) Plantation Farming

(c) Mixed Farming

(d) Shifting Farming

Answer: D

9. Which of the following gas is directly respondent for the depletion of ozone layer?

(a) . Carbon dioxide

(b) Carbon monoxide

(c) Nitrous oxide

(d) Chlorofluorocarbon (CFC)

Answer: D

10. Who said that ‘National Calamity’ on the failure of Non-Cooperation Movement to prevent the public mass from
demoralisation?
(a) Subash Chandra Bose



(b) Bal Gangadhar Tilak
(c) CRDas
(d) Vitthal Patel

Answer: A

11. The upper house of Indian Parliament is known as —
(a) The Rajya Sabha

(b) The Lok Sabha

(c) The Vidhan Sabha

(d) The Vidhan Parishad

Answer: A

12. Which Indian state had the first woman Chief Minister —
(a) Uttar Pradesh

(b) Madhya Pradesh

(c) Sikkim

(d) Arunachal Pradesh

Answer: A

13. Which of the following metals forms an amalgam with other metals?

(a) magnesium

(b) mercury

(c) manganese

(d) molybdenum

Answer: B



14.Which among the following countries has a better gender ratio than India?

(a) Bhutan

(b) Pakistan

(c) China

(d) Afghanistan

Answer: A

Logistic reasoning:
15. SCD, TEF, UGH, , WKL
(a) CMN
(b) UJI
(c) VU
(d) UT
Answer: C
16.ELFA, GLHA, ILIA, , MLNA
(a) OLPA
(b) KLMA

(c) LLMA

(d)  KLLA

Answer; D

17.CMM, EOO, GQQ, , KUU
(a)GRR

(b)GSS

(c)Iss



(d)ITT

Answer: C

18.Which word does NOT belong with the others?

(a) parsley
(b) basil
(c) dill

(d) mayonnaise

Answer: D

19.Which word does NOT belong with the others?
(a) inch

(b) ounce
(c) centimeter

(d)yard

Answer: B

20.Which word does NOT belong with the others?
(a)tyre

(b)steering wheel
(c)engine

(d)car

Answer: D

21.Read the below passage carefully and answer the questions:
The government of an island nation is in the process of deciding how to spend its limited income. It has $7 million left
in its budget and eight programs to choose among. There is no provision in the constitution to have a surplus, and



each program has requested the minimum amount they need; in other words, no program may be partially funded.
The programs and their funding requests are:

* Hurricane preparedness: $2.5 million

* Harbor improvements: $1 million

* School music program: $0.5 million

* Senate office building remodeling: $1.5 million

* Agricultural subsidy program: $2 million

* National radio: $0.5 million

* Small business loan program: $3 million

* International airport: $4 million

1. Senators from urban areas are very concerned about assuring that there will be funding for a new international
airport. Senators from rural areas refuse to fund anything until money for agricultural subsidies is appropriated. If
the legislature funds these two programs, on which of the following could they spend the rest of the money?

(a) the school music program and national radio
(b) hurricane preparedness
(c) harbor improvements and the school music program

(d) small business loan program

Answer: A

22.1f the legislature decides to fund the agricultural subsidy program, national radio, and the small business loan
program, what two other programs could they fund?

(a) harbor improvements and international airport
(b) harbor improvements and school music program
(c) hurricane preparedness and school music program
(d) hurricane preparedness and international airport

(e) harbor improvements and hurricane preparedness

Answer: B

23.If the legislature decides to fund the agricultural subsidy program, national radio, and the small business loan
program, the only other single program that can be funded is

(a) hurricane preparedness.
(b) harbor improvements.

(c) school music program.



(d) senate office building remodeling.

(e) international airport.

Answer: D

“24.0dometer is to mileage as compass is to

(a) speed
(b) hiking
(c) needle

(d) direction

Answer: D

25.Marathon is to race as hibernation is to

(a) winter
(b) bear
(c) dream

(d) sleep

Answer: D

26.Window is to pane as book is to

(a) novel
(b) glass

(c) cover

(d) page

Answer: D

27.Cup is to coffee as bowl is to
(a) dish

(b) soup



(c) Spoon

(d) food

Answer: B

28.Yard is to inch as quart is to

(a) gallon
(b) ounce
(c) milk

(d) Liquid

Answer: B

29.Play is to actor as concert is to

(a) symphony
(b) musician
(c) piano

(d) Percussion

Answer: B

30.Pointing to a photograph of a boy Suresh said, "He is the son of the only son of my mother." How is Suresh related
to that boy?

(a) Brother

(b) Uncle

(c) Cousin

(d) Father

Answer: D



